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QUESTION 1

At 1Gb/s, multimode fiber cables are capable of carrying Fibre Channel data a MAXIMUM distance of which of the
following? 

A. 200 meters (656 feet) 

B. 500 meters (1640 feet) 

C. 1000 meters (3281 feet) 

D. 10 kilometers (6 miles) 

Correct Answer: B 

 

QUESTION 2

In a performance tiered storage environment, which of the following types of data should reside on the top tier? 

A. Data requiring high I/O 

B. Encrypted data 

C. Mission critical data 

D. Frequently archived data 

Correct Answer: A 

 

QUESTION 3

Which of the following BEST defines what the \\'ping\\' command actual proves? 

A. The frame types that can be sent and received by the target device 

B. If the target device responds, then all applications are ready to be utilized 

C. There are no zoning misconfigurations 

D. Connectivity exists between the sender and target devices 

Correct Answer: D 

 

QUESTION 4

Which of the following backup types would BEST be used for fast backups and allow for offsite storage? 

A. Tape 
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B. D2D2T 

C. Optical 

D. D2D 

Correct Answer: B 

 

QUESTION 5

SAN zoning provides which of the following? 

A. A means to mask LUNs for clients 

B. A method with which to divide the fabric into VSANs 

C. A means of partitioning a SAN fabric at the network layer 

D. A means of controlling access to storage at layer 4 

Correct Answer: C 
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